
                                    ĐỀ THI THỬ ĐẠI HỌC
                                 Môn : Tiếng Anh,Thời gian :90’ 

Họ và tên thí sinh :………………………..Số báo danh :…………………….
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Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 11 to 20
The fertile valleys of the river Nile straddle the hot desert land of Egypt. Rain is relatively scarce, and the summers are scorching hot. Nevertheless the strip of land, known as the Cultivation, on either side of the Nile is reputed to be one of the most fertile places in the world. Its rich black soil is the result of accumulation of silt deposited by the annual flooding of the Nile thousands of years ago. From June to October, the river overflowed its banks. Modern damps were then constructed to control the flooding. The floodwaters left behind a rich sticky black mud which made it suitable for the cultivation of crops. As long as the soil was well irrigated, two or three crops could be grown in one season. Its rich soil led to the growth and rise of the brilliant civilization of the ancient Egyptians on the Nile valley more than 5000 years ago. The earliest Egyptians had acquired the skills to till the land along the banks, drawing along the Nile became wealthy, they embarked on projects of digging ditches and constructing dams to control the floods. In about 3100 BC, the whole Egypt was united under the reign of King Menes. He and his descendants made up Egypt's first ruling family, or dynasty. His rule led to the great development of the arts like writing, painting, architecture, and crafts. Egyptian power and influence were to last for the next 2000 years. The Egyptian kings had absolute powers. The king possesses all the land, and the peasants had to surrender part of their crops to the king. An army of officials and scribes did the task of collecting the exact amount of due from the individual farmers. Crops and livestock were often seen at the storehouses surrounding the royal palaces. In return for their uphill task, the king paid his officials and dishes out funds for huge irrigation projects. Egypt's trade with the outside world stretches far and wide. In return for gold, copper, gemstones, and building stones, it purchases the goods that it did not have. Timber, resins, oils, silver and slaves came from Lebanon. From Deria and Anatolia came horses, while the blue stone called lapis lazuli was imported from Mesopotamia. Strong forts were constructed to protect overland trade routes. Egypt held Nubia in the south for almost 800 years. It served as Egypt's most vital source of gold and slaves.

Question 1:  The civilization of the ancient Egyptians was brought about by _____.

A. Egypt's first ruling family
B. the rich alluvial soil of the Nile
C. Egypt's trade with the outside world
D. the highly-developed writing, painting, architecture and crafts
Question 2:  Egyptian slaves came from _____.
A. Syria and Anatolia
B. Palestine
C. Mesopotamia
D. Lebanon
Question 3:  The king was wealthy because _____.
A. he possessed all the land
B. huge irrigation projects were set up
C. he was in absolute power
D. farmers paid him their tribute
Question 4:  The writer said that the annual flooding of the Nile _____.

A. needed to be controlled
B. led to the discovery of new mines
C. caused an influx of foreign traders
D. helped to develop the arts
Question 5:  According to the passage, the king was wise _____.
A. to own slaves and gold
B. to pay for huge irrigation projects
C. to control the land
D. to import the things that Egypt did not have
Question 6:  In return for, in the first line, last paragraph, refers to _____.
A. what Egypt exported
B. how fast the profit came
C. the respect Egypt received
D. the protection the Egyptian army provided
Question 7:  A suitable title for this passage is _____.

A. The Farming Methods of the Egyptians
B. The Landscape of the Egypt
C. The Might of the Egyptian Army
D. The Civilization of the Ancient Egyptians
Question 8:  We know the Egyptian Empire was powerful from the _____.
A. long period it extended its power and influence
B. way its army fought with other invaders
C. number of crops grown in one season
D. trade and business done with other nations
Question 9:  Farm crops would be _____ if there was no water for irrigation.

A. harvested
B. unavailable
C. unprotected
D. destroyed
Question 10:  From June to October, the flood plains would be _____.
A. open to the building of new                         B. left to the sowing of new crops dams
C. raised to a higher level                                 D. inundated with floodwaters from the Nile
Choose the appropriate idiomatic expression to substitute for the italicized word or words in each sentence below. Idioms from previous lessons are indicated by number. 

Question 11: We participated in the club last year and I think that it was very useful.

 
A. take off
B. take place
C. take over
D. take part in
Question 12: Larry isn't at all shy about expressing his opinions.


A. at any cost
B. in the least
C. at once
D. at first

Question 13:  By  the way, I've got two tickets for Saturday's game. Would you like to go with me?


A. actually

C. eventually

C. incidentally

D. gradually

Question 14: Tourists today flock to see the two falls that actually constitute Niagara falls.

A. come by plane 
                                 B. come in large numbers 

C. come out of boredom
                                 D. come without knowing what they will see

Question 15: 
Choose  the  underlined  part  that  needs correction in each of the following questions.
Question 16: Window treatment, furniture arrangement and color combine all contribute to the overall impression of a room 
答案：B

测试点：词性／并列结构.

分析：看到and，要注意其两边成份是否同词性，同性质．and前是名词词组，而此处combine为动词，应为名词combination，与treatment和arrangement并列.

解题要点：当连接词and连接两项或更多项目时，应特别注意相连各成分的结构，词性相同.

答案：D
测试点：连词.

分析：此处不是转折的关系，而是选择，不能用but,应当用or．or both是固定说法.

答案：C
测试点：习语。
分析：看到紧接其后的耶，应想到这里要用such。Such as是固定短语。
解题要点；such as是TOEFL考题中常见的短语.

Question 17: It has not been determined how years sea turtles can live in their natural environment, but they will reach a very old age if left undisturbed by humans.

答案：A
测试点：缺词.

分析：how是副词，后面不能直接加名词．应为how many years.

Question 18: A footnote is characteristically employed to give information that is too long or too detailed be  included in the body of a text.
答案：D
测试点：too…to…的用法.

分析：看到前文的两个too,应立即注意后面是否有to…的部分．此处动词be前缺to.

答案：C

测试点：比较级形式重复。
分析：遇到形容词或副词的比较级，应注意其比较形式是否重复。此处应去掉more.

答案：D

测试点：词性.

分析：up是副词，此处应用形容词upper.

Question 19:Ants have an elaborate structure social, and enjoy a longevity far greater than that of most insects
Question 20:An organ is a group of tissues capable to perform some special functions, as, for example, the heart, the liver or the lungs.
答案：B
测试点：词序。
分析：单个的形容词修饰名词时，应放在名词前。此处应为social structure。
解题要点；形容词定语及其修饰的名词前后词序颠倒是TOEFL常考题型．应注意划线的名词+形容词的错误形式.

答案：B

测试点：习语.

分析：Deal with是固定短语.

答案：A
测试点：词性.

分析：multiply是动词，此处需用形容词修饰名词talents．应为multiple.

答案：D
测试点：词性.

分析：冠词a后应接名词，而daily为形容词或副词．应为day.

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions

Question 21: There’s a lot more to Willie than one would think: still waters run _____

A. deep

B. deeply


C. deepness

D. depth

Question 22:The idea ____to nothing because I couldn’t afford to do it

A. went

B. came


C. turned

D. changed

Question 23: The players’ protests_____ no difference to the referee’s decision at all

A. did

B. made


C. caused

D. created

Question 24: Peter, Harry and Chuck were first, second, and third ______ in the school cross-country race

A. respectively
B. actively


C. responsively
D. tremendously

Question 25: By using all the lastest technology, the yathchman mananged to cross the Atlantic in ____ time.

A. record

B. lightning


C. top


D. quickest

Question 26 :Why ____ Peter to the party? He is always making trouble

A. Don’t we invite
B. don’t you invite
C. not invite

D. invite
Question 27 The speaker fail to get his message ____ to his audience

A. Around
B. in



C. across

D. out

Question 28: You are under no obligation _____ to accept this offer

A. whatsoever
B. Eventually


C. Apart

D. indeed

Question 29: ______ no money would be wasted, we will use energy more efficiently

A. so that
      B. in order that

C in order to

D. A and B

Question 30: Interpreting is not a mechanical process of converting a sentence in language A in to a sentence in language B. ......., it is a complex art.

A. But

B. In addition


C. Rather

D. However

Question 31: You can always _____Ann to give you sound advice

A. bank of
B. bank for


C. bank at

D. bank on

Question 32: His emotional problems _____from the attitudes he encountered as a child, I think

A. stem

B. flourish


C. root

D. sprout

Question 33:There should be an international law encouraging_____

A: afforestation

B. deforestation
C. forestry
D.reforestation

Question 34: I’m not keen on _____ control of the project to a relatively newcomer

A. undertaking

B. charging

C. entrusting

D. allotting

Question 35: : Unfortunately, the company closed down because it couldn’t keep___with rapidly changing technology

A. speed


B. time

C. fast

          D. pace
Question 36. He is not under arrest, nor have the police placed any _____ on his movements

A. obstacle


B. veto

C. restriction

D. regulation

Question 37: He was very taken ___ by her aggressive attitude

A. about


B. aside

C. apart

D. aback
Question 38: Most crimes that are committed are no more than ____theft

A. slight


B. small

C. unimportant
D. petty
Question 39:John was asked to _____ before the judge

A. wit


B. testify

C. execute

D. prejudice

Question 40: She is extremely competent and ______

     A. industrial

B. industrious
C. industry

D. industrialized
Choose the word whose underlined part is pronounced differently from that of the rest in each of the following questions. 
Question 41:  A. adventure
B. advantage
C. advertise
D. adverbial
Question 42: A. imagine
B. inhabit
C. continue
D. disappear 

Question 43: A. periodic
B. electric
C. contagious
D. suspicious 
Question 44: A. organism
B. prevention
C. attraction
D. engagement 

Question 45:A. popularity
B. politician
C. documentary
D. laboratory
Read the passage and choose the best answer to fill in each blank

One right enshrined in the Convention that makes the exercise of all the other human rights ........(41) is  the right to education. “Through education, starting from the early years, children not only learn about their rights but also .........(42) the skills and attitudes to assert them,” says Qian Tang, UNESCO Assistant Director-General for Education. “Ideally this takes place in a safe and stimulating ............(43)  and in a spirit of mutual respect and understanding.” 

UNESCO has consistently promoted the right to quality education of every child, youth and adult. But the world is still far from ............(44)  the Education for All goals. Worldwide, 61 million children and 71 million adolescents are out of school. ...........(45) 250 million children cannot read and count - even after four years of school - and 796 million people still lack basic literacy skills.  

A quality education helps ...........(46) poverty and enables individual and collective empowerment, social cohesion, peace and human development. A quality school ...........(47) the rights of the child, does not exclude, provides education that is free, compulsory and accessible, and sees .........(48)  as an opportunity, not a problem. An early childhood education of quality gives children an equal ...........(49)  and allows them succeed in later stages of education. Children have the right to learn ........(50) the very beginning. 

Question 46:  A. possible
B. available
C. valuable
D. worthy

Question 47 :A. rise
B. boost
C. acquire
D. trigger

Question 48: A. surrounding
 B. air
C.environment            D.atmosphere 

Question 49: A. achieving
B. managing
C. controlling             D.   succeeding 

Question 50: A. More
B. At least
C. At most                  D Approximate

Question 51. A. decline
B. drop
C. reduce                    D.narrow down

Question 52: A. ignores
B. neglects
C. respects
D.broadens

Question 53: A. diversity
B. diverse
C. diversely
D.diversify

Question 54: A. set off
B. begin
C. departure
D. start 

Question 55: A. by
B. at
C. since
D. from
Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is correct and closest in meaning to each of the following questions.

Question 56: He’ll know if he’s got the position or not sometime before 5 o’clock today.

A. If they decide to accept him for the position, they’ll contact him around 5 o’clock today

B. Although it seems certain that he will be accepted, the decision won’t be made known to him until 5 o’clock.

C. If he has been accepted for the position, he will receive the confirmation at around 5 p.m today.

D. By 5 p.m today he’ll be informed about whether he’s been accepted for the position.
Question 57: In the course of leanring English, I had three different teachers from Canada.

A. I was taught to speak English by three separate Canadian teachers.

B. Three Canadian teachers taught me at different times while I was studying English.
C. Since I started studying English, I have been taught by three different Canadian teachers.

D. The 3 different teachers on my language course were all Canadians.

Question 58: The writer Kate Millett was forced to stay in a psychiatric hospital by her family.

A. Problems with her family made the writer Kate Millett go to a psychiatric hospital.

B. Together with her family, the writer Kate Millett was made to go into a psychiatric hospital.

C. The writer Kate Millett’s family made her stay in a psychiatric hospital.
D. The family of the writer Kate Millett convinced her to remain in a psychiatric hospital.

Question 59: Hardly anyone can resist the taste of sushi once they have tried it.

A. So tasty is sushi that, once you have actually tasted it, it’s impossible not to want to taste it  again.

B. Nobody who has tried sushi is able to withstand the temptation to taste it again.

C. Nearly everyone who has once experienced the taste of sushi would like to experience it again.

D. Very few people who have experienced sushi will find it tasty enough to want to experience it again.

Question 60: He’s been studying for so many years that he should have realized sooner that his grammar was incorrect.

A. He has been a student for so long that he could quickly tell when his grammar was incorrect.
B. A student of his experience ought to have noticed his incorrect grammar earlier.
C. The student would have known that his grammar was incorrect if he’d had more experience.

D. The grammar wouldn’t have been so problematic if the student had been aware of it sooner.

Mark the letter A, B, C or D on your answer sheet that best completes each sentence.

Question 61: Public television stations are different from commercial stations ___________.

A. because they receive money differently and different types of shows

B. for money and program types

C. in the areas of funding and programming
D. because the former receives money and has programs differently from the later

Question 62: Declared an endangered species in the United States, ___________.

A. people have gathered the ginseng root almost to the point of extinction

B. the ginseng root has been gathered almost to the point of extinction
C. the near extinction of the ginseng root is due to excessive gathering

D. gathering the ginseng root almost to the point of extinction

Question 63:The professor said that ___________.

A. the students can turn over their reports on the Monday

B. the report on the Monday could be received from the students by him
C. the students could hand in their reports on Monday
D. the students will on Monday the reports turn in

Question 64: __________, Jose Limo’s dance troupe often toured abroad.

A. The U.S State Department sponsored 


B. Sponsored by the U.S State Department
C. The U.S State Department, which sponsored it

D. The sponsorship of the U.S State Department

Question 65: Only when humans emloy nonchemical approaches to pest control ___________.

A. will creatures such as roaches and rodents be successfully eliminated
B. creatures such as roaches and rodents will be successfully eliminated

C. if creatures such as roaches and rodents will be successfully eliminated

D. that creatures such as roaches and rodents will be successfully eliminated

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions. 

It stands to reason that galaxies, large star systems that contain millions or even billions of stars, should collide with one another fairly often, given that the average separation between galaxies is only approximately 20 times the diameter of the average galaxy. In contrast, stars almost never collide because the average distance between stars is astronomical, perhaps 10,000,000 times their diameter. 

Using a telescope, it is possible to find hundreds of galaxies that appear to be colliding. However, when two galaxies appear to come into contact, there is in reality no direct contact between the stars of one galaxy and the stars of the other. Instead, the two galaxies pass through each other, and the gravitational forces in the two galaxies alter the shapes of the galaxies, often producing tails and bridges. One well-known pair of colliding galaxies, for example, is called the Mice because each of the two interacting galaxies resembles a mouse with a long tail, and the Whirlpool galaxy appears to be connected to a smaller galaxy by means of a bridge extending from one of its long spirals. It is impossible for astronomers to monitor the changing shapes of colliding galaxies because the interactions between galaxies last hundreds of millions of years, but it is possible to study galaxies in various stages of collision and draw conclusions about what happens when galaxies collide. 

In certain situations, when two galaxies collide, they do not always pass through each other and emerge as two separate galaxies. In one situation, if two galaxies are moving slowly enough, they may collide and then may not have enough velocity to escape each other's gravitational pull after the collision. In this case, the two galaxies will collide, and then move past each other, and then be pulled back to collide again, and continue this way until they eventually merge into a single galaxy. In another situation, if a much larger galaxy comes into contact with a smaller galaxy, the larger galaxy may absorb the smaller one in a process called galactic cannibalism. In this process, a larger galaxy first pulls away the outer stars of the smaller galaxy and then begins to pull at the denser core. While the process of galactic cannibalism is taking place and the two galaxies are merging into one, the cores of both the larger galaxy and the smaller galaxy can be clearly visible. 

Some giant elliptical galaxies, with what appear to be multiple nuclei, have been found in the skies, and astronomers once thought that these giant galaxies were giant galactic cannibals that had consumed many smaller galaxies recently enough that the cores of the cannibalized galaxies were still intact. One such galaxy, with what appeared to be eight separate nuclei, was found and was used to put forth the hypothesis that galaxies could be voracious monsters capable of swallowing up uncountable other galaxies simultaneously. However, further studies have shown that the numerous nuclei that seemed to be part of a single large galaxy were in reality the nuclei of smaller galaxies that were in front of or behind the larger galaxy. Thus, astronomers are now confident that galactic cannibalism exists among a limited number of interacting galaxies; however, astronomers are not convinced of the existence of cannibalistic galactic monsters that swallow up large numbers of smaller galaxies simultaneously. 

Signs of galactic cannibalism exist even in our own galaxy, the Milky Way. Astronomers have found younger stars south of the galaxy's disk, where only older stars should be found, suggesting that the younger stars formed when our galaxy cannibalized a smaller galaxy. Furthermore, it can be clearly seen now that our galaxy is beginning to digest the Magellanic Clouds, which are small irregular galaxies that are companions to the Milky Way and are visible in the southern skies over Earth. 
Question 66: Which of the following is NOT true according to paragraph 1?

A. Galaxies may contain billions of stars.

B. On the average, the distance between galaxies is around 20 times the diameter of a galaxy.

C. It is unusual for stars to collide.

D. The average distance between stars is 70 times their diameter
Question 67:  The author mentions tails and bridges in paragraph 2 in order to 

A. provide a visual image of the parts of galaxies that have been affected by gravitational forces
B. provide examples of the types of galaxies that tend to collide

C. describe the recognizable characteristics of the colliding galaxies called the Mice

D. create a visual roadmap of the routes that galaxies take through the skies

Question 68: The word last in paragraph 2 could best be replaced by 

A. end in


B. endure for

C. finish with

D. lose out to

Question 69: The word merge in paragraph 3 is closest in meaning to 

A. divide


B. swallow

C. join


D. appear
Question 70: What occurs during galactic cannibalism, according to paragraph 3?

A. A larger galaxy is absorbed by a smaller one.

B. The first step involves pulling at the core of the smaller galaxy.

C. The outer stars of the smaller galaxy are absorbed by its core.

D. The core of the smaller galaxy generally manages to remain visible
Question 71: Which of the sentences below expresses the information in the italic sentence in paragraph 4?
A. Astronomers have recently found some giant galaxies that have cannibalized a number of galaxies.
B. Astronomers used to think that certain giant galaxies that appeared to have a number of nuclei were galactic cannibals
C. When astronomers find galaxies with multiple nuclei, they know that they have found galactic cannibals.

D. Even though a galaxy has multiple nuclei, it is not certain whether or not the galaxy is a galactic cannibal.

Question 72: The phrase put forth in paragraph 4 is closest in meaning to 

A. encounter

B. understand

C. deny

D. promote
Question 73: Why does the author mention voracious monsters in paragraph 4? 

A. To emphasize how violently the galaxies strike each other

B. To emphasize how much energy the giant galaxies consume

C. To emphasize how many smaller galaxies the giant galaxies seem to consume
D. To emphasize how really big the giant galaxies are

Question 74:  It is stated in paragraph 4 that scientists today are quite certain that

A. galactic cannibalism does not really exist

B. there is a limited amount of galactic cannibalism
C. galactic cannibalism is commonplace
D. galactic cannibals are capable of taking over numerous small galaxies at the same time

Question 75: Based on the information in paragraph 5, what will most likely happen to the Magellanic Clouds in the distant future?

A. They will become galactic cannibals.

B. They will develop separate nuclei.
C. They will become regular galaxies.

D. They will become part of the Milky Way 

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is opposite in meaning to the underlined part in each of the following questions.

	
	Question 76: His career in the illicit drug trade ended with the police raid this morning.

	
	A. irregular
	B. legal
	C. elicited
	secret

	
	Question 77: The soldiers were told to commence firing in the mock battle.

	
	A. stop
	B. begin
	C. evoke
	D. continue


Question 78: She enjoyed his story in make believe.


A- pretended


B- indeed

C- at bottom

D- as usual

Question79: I think It’s time we did away with the obsolete policies.


A- maintained


B- wiped out

C- abolished

D- looked out

Question 80: He had never experienced such discourtesy towards the president as it occurred at the annual meeting in May.

A. politeness   B. measurement
        C. rudeness
   D.encouragement
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